Ratio

<o dxy > (um)

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

o
[N

o
N

.........................................

.........................................

o e fen o p v fa o J b
=

1 2 3
TP n (PCA to beamline)

< d cot(B) >
o
[
[6)]

o
[N

o
i

................................................

................................................

1
TP n (PCA to beamline

—=— DQM_original_step2__pt1to20_eta2pOto2p5
—e— DQM_mkFit_step2__ ptlto20_eta2pOto2p5

—— DQM_pixelCPETemplate_step2__ ptlto20_eta2pOto2p5

20

..........................................

> 3

...........................................

........................................

........................................

T2 3
TP n (PCA to beamline)

—

Ratio

3
)

100

.........................................

iy

2

3

TP n (PCA to beamline)



	Contents
	Page 1


